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Appendix 3

Jigsaw: Reading materials, Guiding questions, Multiple choices worksheet
Student 1 Material (Parallel and Perpendicular)

Paralllel Perpendicular Lines

Parallel Lines - 2 lines that never intersect

——— They have the same slope

— m; =m,
They have different y-intercepts
b, #b,
Perpendicular Lines - 2 lines that intersect

They create 4 right angles

They have different slopes
(my)(my) =-1
They can have the same y-intercept

Guiding Questions:

Determine whether the graphs of each pair of equations are parallel,
perpendicular of neither.
1. y=3x+4 2 y=-dx+1
y=3x+7 dy=x+3
3 y=2x-5 4 y=-1Bx+2
y=5x-5 y=3-5
5 y=3/5x-3 6 y=4
Sy=3x-10 4y=5
7. y=Tx+2 8. y=56x-6
x+7y=8 x+5y=4
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Student 2 Material (Slope)

Slope represents the rate
of change.

- Steepness
- How fast / slow is the
increase / decrease?

Count out a siope between

two points using RISE OVER

RUN (vertical change over
horizontal change).

Up is a positive movement.
Down is a negative movement.
Right is a positive movement.
Left is a negative movement.

A line has the same slope EVERYWHERE. You can choose any
two points to calculate the siope (and then use another two to
check your work!)

When using two points las coordinates or from a table), use
the slope formula to calculate the siope:

= m=x2:"|

&

Guiding Questions

Sheet 1

Slope: Two-Point Formula

Example:
Find the slope of a line passing through the points (4, 8) and (3, -2).
Slope=m= 2201
2%
= =2-8 _-10 _
S =5 =1
Use two-point formula method to find the slope of a line passing through the given
points.
0 (-4,2)and (5, 6) 2) (5,-5)and (7,3)
Slope = Slope =
3 (2,1)and(3,-10) 4 (3,9and(1,8)
Slope = Slope =
5)  (7,1)and(-2,3) 6  (0,-2)and(-6,4)
Slope = Slope =
7 (-8,-5)and (-7, -4) 8) (9,8)and (5, 1)
Slope = Slope =
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Student 3 Material (x-intercept and y-intercept)

x-intercept The point where a graph
intersects the x-axis. The point
where the equation of the graph
has an x-value of zero.

y-intercept The point where a graph
intersects the y-axis. The point
where the equation of the graph
has an x-value of zero.

y-intercept
©O.y)

x-intercept

| (x.0)

Guiding Questions

4F
3
5
I F
-8 —6 —4 =2 2 4 6 8

1) Label the coordinates of these five points.

2) Label x-intercept and y-intercept in the given figure.




1 Ate
Z A CLASS The active classroom

mezaaton unversiy ot vons ko Cheung Ka Wei, Chan Hio Cheng, Lai San Yi Zoie, Law Sin Ying, Mung Kwan Ho @2021

Jigsaw Quiz

4. Which two lines are parallel?
Jigsaw quiz

A y=3x+2
Partl: MCQ (20 marks, 4 marks for each)
y=2x+2
1. For the line 3x — 4y — 12 = 0, which statement is true?
B. y=3x-4
A. The x-intercept is 3 and the y-intercept is 4.
y=x+5
B. The x-intercept is 3 and the y-intercept is —4.
C. y=x
C. The x-intercept is 4 and the y-intercept is 3.
y=5
D. The x-intercept is 4 and the y-intercept is —3.
D.y=0
2. What are the slope and y-intercept of the relation
y=2

represented by the equation 10x + 5y — 15 =0?
5. Identify the pair of perpendicular lines.

A.slope: 2, y-intercept: 3

A y=5x+2
B.b. slope: 2, y-intercept: -3 y=5x+1
C. slope: -2, y-intercept: 3.
P! y P B. y=2x+1
D.slope: -2, y-intercept: —3
y=-2x+5
3. For the line 4x — 3y — 12 = 0, which statement is true? C. y=3x+4
. . . . 1
A.The x-intercept is 3 and the y-intercept is —4. y= §x +6
B. The x-intercept is 3 and the y-intercept is 4. D. y=4x+4
C. The x-intercept is 4 and the y-intercept is —3.
y=4x+3

D. The x-intercept is 4 and the y-intercept is 3.

Part2: Drawing

Draw the graph by the given linear equations.

Graphy =;x +4
\
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